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w4 HH1: i/
9912 x10 = 6.612 x 10 =
1.622 x 10 = 8.5 x 100 =
3.609 x 10 = 1.339 x 1000 =
3.165 x 10 = 9.349 x 100 =
6.686 x 1000 = 2.361 x 1000 =
8.377 x 1000 = 2273 x 10 =
10.618 x 1000 = 3.903 x 10 =
6.249 x 100 = 9.525 x 1000 =
4.097 x 100 = 2416 x 10 =
3.441 x 1000 = 3.577 x 1000 =
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4 H391: i O
9.912 x 10 =99.12 6.612 x 10 = 66.12
1.622 x 10 = 16.22 8.5 x 100 = 850
3.609 x 10 = 36.09 1.339 x 1000 = 1339
3.165 x 10 = 31.65 9.349 x 100 = 934.9
6.686 x 1000 = 6686 2.361 x 1000 = 2361
8.377 x 1000 = 8377 2273 x 10=22.73
10.618 x 1000 = 10618 3.903 x 10 = 39.03
6.249 x 100 = 624.9 9.525 x 1000 = 9525
4.097 x 100 = 409.7 2416 x 10=24.16
3.441 x 1000 = 3441 3.577 x 1000 = 3577
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